ERSAROREERT —I X—RIBIST—F

2023598268 (X) 7EIEER6H

mﬁ,@ﬂ'\CU"\‘:> B (pRH) UYSFR—K ‘(fﬁl B ‘[%EH%FEEH - | 5 18000 B
[AXE%) 1% :2,500,000 ~ 23%&:875,000  33#%:500,000H . 43#&:325,000MH  53&:175,000 9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
11727 V77 RTF— 4% 5 JSIIRE‘/a 1:(5_3).5 1-1-1-1 | 36.8| — 2 (ﬁ) :*u%%g (dhR)
RiNA0 B:TUYRU—TF— #HBT7—L
o < SiaIgE : -2-2- - HLLBA (PR)
) AR POEL 44 an 1.(513).7 2-2-2-1 | 36.9 6 (5+3sf; il
RFAUAYRA NUA W b B XEUTILA— HEEAKS
~, P LLIZAEES : -7-8- - JEHZ (KR
305 5| TUALT A VTR v 6 | A 1(.15/32.)8 6-7-8-7 | 36.1 3 (4_752) %%M&{’; )
R:N40 B:LyRITH— F—U— - Iv I\ - T7—LBRR
» < o= v o4 | HER 1:53.9 3-3-3-3 [36.8] — 4 450 | BFE (hR)
4 49N/ NYTS £ 54.0 /2 6 |/\ARE
R:TFAIWNIZFH— B:9H/NKS BRAMFBIHN/ T7—L
_ - E*]\% . -5, —_ @zﬁﬂﬁi (Epg&)
5 3| FATYTULY 5 s 1.(55.2 5-5-5-4 | 36.8 1 (4:59) i
RiUFAVF4—R B:T4T7vITL—7 [=lEe]
o REN : -5-6- - BAEXN (PR)
61101 ATy A 4 5 WL 1.(5;;.8 7-5-6-5 | 37.3 5 :132(; ﬁﬁ%xﬁm
RiFVVvY/FEF BiAIUTFIFU—T JOANT7—L
~ s 7 | ROMB— 1:54.8 8-8-7-7 |37.1| - 7 | 427 |AER (hR)
7\8| 8|2 1YKST 54.0 ") (7) | LOEAES
JUF—Y 8:FRo—LTSY S
» EARIG : -4-4- - EFREE (KR)
8 5 | R hOA 5 = 1.(545).4 4-4-4-5 | 38.1 8 (1915) EE% 7
R:Z2MOVFUI—Y B:Od—)LRKRA Vb JIIbYA 1T 7 —LRatt
we 6 EFEE - - - - - — | EEEE— (OKR)
x| 8|9 | L—=ILAY # 5.0 (EUE) (o) | 1b=y¥T (@)
RFAIWNTPFE— B h—DT4—IT/)N— MER Y R
@ 11— —‘@BIEfI
13—3— 7,6,4,2,3,5,1,8
20—7F— 7,6,4,2,(1,3),5,8
30—7— 7,6,4,2,3,1,8,5
43—F— 6,7),4,3,(1,2), (5,8
o ILRE
BB 7 340 JA R 6-7 970/ 5 E 6-7 2,810 3EE 5-6-7 3,730
B B 7 1504 57/ 360/ =51 7-6 5,480H 3EE 7-6-5 17,480
6 3804 5-6 980
5 140

ABIC DOV TRHUTEREERRODDZ. THIBLIETL




